NI
L

ot
w
I~
!
oy
e

I~
L

;OH
W
X
s

;OH

T

—

_Z_l
s
jang

TH
_X_H

o,
ol

w

—

_X_l
s

jang

il
I~
s

o
4



2. (x+1)° = ap + a1 x +asx® + azx® +asx* + asx® ©] xof thgt F5A4d
W, ag + a1 + az + az + ag + a5 9] F= FSHH?

@D 8 @ 16 ® 32 @ 64 ® 128



f(x) =383 —4x2 + 2x—k 7t x -2 B Q152 7FA o, k 9

? 10 A 12 @ 16 ® 20



Q1523 shof



ohe Bole] Fold 48 xeh @ ul, VEZE 8157 S 18] AT

1 2
-2, =, 0, =35, 4, —=
3 5

@D 174 ® 370 ® 57 @ 770 ® 9 7



2x+1

2L o) shg Tobw?



7.

OIAMY A »* - 2x +m = 0°] 35 7HE ),

F5h?

@ -1<m<1

@ m>1

|



o]i]'oL/\ Ty = 2x2 —6x+ 5(2 <x< 5)94
o, ab 9] & oHH?



{O.Gx 105y =28 ---@)

11

3% + )= 2 ~©

D (2,3) @ (~2,3) ® (3,2)
@ (3,-2) ® (-3,-2)




10. F54 x-2/+x+ 3|2 -2x+ 99| =7

O x=2
@ x<?2 B 7} 9},

®

-3<x<2 @ 1<x<2



°
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iy

@O -15<x<12

@ —7T<x<?2

1 x2 +2x-35< 02 =97

@ -15<x<5

® -5<x<7

® -T<x<5



@ 2<x<10

B x<10

® 2<x<10



13.

thS-2 AABC oﬂH BCY ZHE M A

A
W, AB° +AC” = 2(AM +BM2) (a.b)

?E 9
ot 2gole,

Ty,
B(-c,00 M| C(c,0) =

AB’ +AC = (a+¢)?+b%+ (a—c)? +b* =(7}) o],
m2 =da? —1—172,W2 =c?
wheba AN + BM =(1})
< AB’ +AC° =(tH(AM + B

2 =552

o] (7h), (W), (Fh) ol &2 Ae A= 2 od?

)
@
®
@
®

a?+b*+c2a*+b*+ 321

2(a® + b2 + ¢?),2(a* + b? + ?),1

2(a® + b% + c?),a® + b* + 2,2

2(a® + b? + ¢?),2(a® + b? + ¢?),2
),

3(a® +b%+c?),a®> +b%>+ 2,3



14.
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A (2,-1) & AU, 712717k =3 Q1 249 WA Ale] ax+by—5 = 0
Qv atb o]

@D 0 2 1 3 2 @ 3 B 4






@ 1 B 3

® 0



® 2 3 3 @ 4 B 5

D 1



19. A (4,5) & FA 3x -4y — 2 = 0 Ato] 9] A S F5HH?

D -1 ® 0 3 1 @ 2 B 3



20.

Ao FAo] (1,-2) o]al, ¥z Fo] 3 A Y& x2+y?+Ax+By+C =0
A, A+ B+C 9 #2?

@D 4 @ 2 ® 0 @ -2 B -4



